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th2 1304 oABCD = € 0 2] 8 Az eltt. AD+BC = 18cm
o o}, AB + CD & F5}o]g}.
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o2 2"y o] AB = 100m, /ABQ = 90°, Z/BAQ = 30° o],
B A HAA 7177k Qe P A AL Leich & zo] 60° L ], 7] 7]
ol 757

® 80m @ 90m ® 100m

@ 110m ® 120m



the Ootol G e el th Aol At 3 Hol A whti
Qi [ olet s, 1 A4 Yo HAEL
[ o= gt
Ok
= - -

D S
=%



6.

o2 1O A] sinx 9] 327




=
m
2
ﬂ_A|3 [ne RO
ﬂ_Vi MM
o |
22w
<4 5 Ho
wrt - T
7Eﬁ72_5a
mm I
NI
M
w e
w0
T o< T

@ 9 ® 12 @ 18 ® 24

® 6



th2 AABC oA 0] h=?
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th2 oA 2 4x -5y 4+ 20 = 03} x
9| Fo] FEol o]F= T oL &
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10. o8 I¥oA AABC &} ADBC = ZH2F /BAC = /BCD = 90° ¢ &
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o2 1A CP, CQ, AB &= H2]50] 59 ¥ 0 9 FAlo|xl 4
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14. sin(3A-45°) = cos (5 + 15°> A o], tan A xtan B ] gH-& 4-o14A?

(, 15° < A < 45°, 0° < B < 90°)
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15. o2 1A /BAC = 90°, BC L AH ©|11 /HAC = x 2t &

tanx 9 Ff27
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